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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. odemel geagey 3794 U3 99 9 ik 3Tfardd; e |

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. U U H fel 9 ST TR A fhE YR &l Jfe / TR / fa0aa™ g1 W
et W % WA I WEl A |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should

be treated valid.

3. 9 99w A § | U FHI% 23 T 24 H = fahey § |

All the questions are compulsory. Question Nos. 23 and 24 have
internal choices.

4. YAk Y K IW & g IW-Yfaent | B ford |
Write the answer to each question in the given answer-book only.
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5. oy & w9 iy 9um siswharet wr €, 39 |l 9F 1 T T WY Haq
ferd |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

6. U HHIG 2 5k A TR Y € |
Question Nos. 2 to 5 are very short answer type.

7. TR HHE 1R AR 9RT (4, i, ili T iv) T | TOH 9 & Ik 9R fosked
(1, &, A0 T) € | T fasheq o1 STer SW-qfaaent § FAar drferen
o ford
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D. Write the letter of the correct

alternative in the answer-book at a place by making a table as
mentioned below :

U9 shHich TE 3T AT THHTAT
Question No. Correct letter of
the Answer
1. (1)
1. (i)
1. (iii)
1. (iv)

1. ) fa EHea SYAfTdr &1 §9EdaT ) 9d

MU MU MU_ P
x y X _ X
) 5= =7 & 3w =P
X X y y
o WM,y
x y y x

The condition of equality of weighted marginal utility is

MU MU MU p
(A) 3 - :P—LL B) MUx :P_x
X X y y
MU M MU p
(@) = —=4 (D) X -4 1
P_ " P MU, TP 2
y X
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(i)

(iid)

3

ot gfeeintt ek ® wtua s i fhen s §
(31) foshar g ()  shdl g
(9) H 3N (3 M EA |

In perfect competitive market, price determination is done by

(A) seller (B) buyer

(C) firm (D) industry.

N =

519 oSIR § & o1 |1 o5k AATF dFer Bidl §, 98 SN &
(31) TIPS Ifqfiar (d)  THITUHRR
(&) qof gfqifima (T) IUEsdR |

The market in which demand curve of a firm is excessively

elastic, that market is
(A) monopolistic competition
(B) monopoly

(C) perfect competition

(D) oligopoly.

N =

(iv) I & qletal q&er fagra # @ds =R ®

(31) T I H (%) 1 gfd
(@) == (7) fa&w

The independent variable in liquidity preference theory of interest

is

(A) demand for money (B) supply of money
(C) saving (D) investment. %
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2. M o MY fIG o ITER M T hA & gF faf@n |

Write the formula to find out the rent according to Modern theory of

rent. 1
3. oY % Sifted fagr o gfqured fed sefareh 3 fhan 2

Which economist propounded the risk theory of profit ? 1
4. wifecd & AR ‘g’ w1 A FAR |

According to Kautilya, state the basis of ‘Dharma’. 1

5. o o ¥ & fhd & § AP & o Aeat ehr fean o 2

For contribution in which area was Prof. Amartya Sen awarded by

Nobel prize ? 1

6. gfaeamyT =t @y X O 31 9T § 2 THSAET |

What is meant by the marginal rate of substitution ? Explain. 1

N —

7.  SUE Ted i b AT 9dRT |

State three assumptions of production function. 1 %
8. T wHfed ¥ w1 Ifvura ® 2 fox wfed gwemRT |
What is meant by the isoproduct map ? Explain with diagram.
1 1
1+ 5 =1 5
9. oy wfd=ifiar &t 9 faRivand s@ET |
State three characteristics of pure competition. 1 %

10. qof yfafira we wawifasricTes gfaefiar & g 9 o< =dEy |

State any three differences between perfect competition and
1

monopolistic competition. 15
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11. T 3TH ScaIeehdl i TR shl GHAST |

Explain the concept of marginal revenue productivity. 1

N —

12. TS & g fag a6t ®iE 39 TE o SRy |

State any three major issues of Gandhiji’s trusteeship principle. 1 =

Pl
13. =dq Ud 3T9dd STavdeshdell H TR &y |

Differentiate between conscious and subconscious wants. 1

N —

14. ‘=afte Td wAfe e gfdit 967 ofig 0 € 1 39 A & 98 § &S dF
Teh i |

‘Micro- and Macro-economics are not competitive but complementary.’

Give any three arguments in favour of this statement. 3
15. w7 H gfg wd 9 § fowar 1 ==l 6! ¥gemr 9 99y |

Explain increase in demand and expansion in demand with the help of

diagrams. 1 % + 1 % =3

16. T S 31 @ 1 G Gfed THemET |

Explain income elasticity of demand with formula. 2+1=3

17. 99 & gfawel Td Safa & fFoH § o T Sifsg |

Differentiate between returns to scale and laws of returns. 3

18. 7= aifereht st wRT § Fat fEer aNd, $l Iferdsiiel @ Td el @rTd i

TUAT HIFT
(FUAH )
I ht AT Fd R @ | e URaawiel | §d o0
SINGH
0 100 o0 | ...
1 00 | .. 200
2 | 170 270
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Calculate the total fixed cost, total variable cost and total

6

cost with the

help of the following table : 1+1+1=3
(in Rs. )
Quantity of Total fixed cost| Total variable | Total cost
Production cost
0] 100 oo | ...
1 100 | ... 200
2 | 170 270

19. Ut gfte H waifusr H | faulor & fag wia-dt fafy 90 § ik =i 2

In your views, which method is best for determination of equilibrium
in monopoly and why ? 3
20. YR SR H 32N T ®H hi STEHRON hl 360 g FAART |

Explain the concept of industry and firm in competitive market with

example. 3
21. ifeed gr afvia wergd fafo & f=l &9 fagri &1 @& # 9o Hifsg |

Describe briefly any three theories of wage determination described

by Kautilya. 3
22. HHA-HHN SUAINTA o\ skt Gfes =aren SifSe | 36 f9g ®i %S 9] HEml
EnE

Explain the law of equimarginal utility with diagram. State any four
limitations of this law. 4+2=6
23. < AT A YA i FEEd § IR A ST Td STSR {5k Rl
e siferg |
SE]
A wd gfd & 9 @ e aifuumg ® 2 w1 wd gfd % aftedel s | W
J9G TSl § 2 T 1 weEE § 99T |
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Determine the market demand schedule and market demand curve

with the help of two individual demand schedules. 2+42+2=6
OR

What is meant by equilibrium of demand and supply ? What is the
effect of changes in demand and supply on equilibrium ? Explain with

the help of diagram. 2+3+1=6

24. T AN T Y A9 § FM ST<R € ? AN & gfarsa fagra &1 fa =t geraan

T guEmEy |
3reEar

3T T Ta 31 ofH | 11 3T<R © 7 foiqga 3% § @ = &1 Icafa 1 f=rs
1 HETFAl § TAHAET |

What is the difference between total interest and net interest ?
Explain the classical theory of interest with the help of diagram.

2+2£+11

5 7 =6

OR

What is the difference between economic rent and contract rent ?
Explain the origin of rent in extensive cultivation with the help of

diagram. 2+3+1=6
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